Appl. No. 10/689,257
Amdt. dated 8 September 2008
Reply to Office Action of 9 June 2008

REMARKS/ARGUMENTS

With respect to paragraph 3 of the Office action, the applicant “is asked to review the
figures, the formulas, and other pertinent part[s] of the disclosure that appear to be incorrect, and
provide appropriate corrections, or explain why the examiner is mistaken.” The explanation
requested by the examiner is provided in response to the examiner’s request in paragfaph 7 of the
Office action for a detailed, step-by-step explanation of how to transpose the matrix of FIG. 15A
into the matrix of either FIG. 15B or 15C. Inresponse to that request, applicant provides a
detailed explanation below which demonstrates that for an east-north shift, the counts are
calculated using the equation (X+Y+1)MOD(array size). No changes to the specification are
believed to be necessary.

In paragraph 6 of the Office action, claims 1-20 and 26 stand rejected under 35 U.S.C.

§ 112, second paragraph, as being indefinite. The examiner’s concerns are addressed by
demonstrating the operability of the present invention in conjunction with FIG. 15, as requested
by the examiner.

Appendix 1 filed herewith illustrates, in the upper left-hand corner, the original data
matrix shown in FIG. 15A. Each of the processing elements (PEs) is given a number which
appears in a circle. Thus, the top row of the matrix is comprised of PEs 1, 2, 3, and 4, which
hold data a, b, ¢, and d, respectively. Similarly, the first column of the matrix is comprised of
PEs 1, 5,9, and 3, which hold data a, e, i, and m, respectively. This original data matrix is given
a count of 0. The count of 0 indicates that the original data held by a PE is the data that the PE
should present as output in the transposed matrix.

The data matrix appearing in the upper right comer is the data as it appears after the first
pair of shift operations. That data matrix is given a count of 1. More particularly, the data
matrix having a count of 1 is the matrix which results after all of the data in the data matrix
having a count of 0 has been shifted one PE east and one PE north. Referring to Appendix 3, the
data m in PE 13, after one east shift and one north shiﬁ, is now held by PE 10. Thus, at this
point in the operation, PE 10 has “seen” data j, its original data, and data m.

Data that shifts “off the matrix” to the right wraps around the matrix to the far left
column and then is shifted up one PE. For example, the data h held by PE 8 wraps around to
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PE 5 and then is shifted north to PE 1 so that after the first pair of shift operations the data h held
by PE 8 is now held by PE 1.

In a similar manner, data that shifts “off the top” of the matrix appears at the bottom of
the same row. Thus, the data a held by PE 1 is shifted east to PE 2, then shifted north, via the
wrap-around feature, to PE 14. In that manner, the data a held by PE 1 in the matrix of count 0,
is held by the PE 14 in the matrix of count 1.

Returning to appendix 1, and turning now to the matrix in the middle left of appendix 1,
that matrix illustrates the data after the second pair of shift operations. That matrix is given a
count of two. We can see that the data m previously held in PE 10 is now held in PE 7. The
data a previously held by PE 14, is now held by PE 11. The data h previously held by PE 1 in
the matrix of count 1 is now held by PE 14 in the matrix of count 2.

Turning now to the matrix of count 3, the data m held by PE 7 in the matrix of count 2, is
now held by PE 4 in the matrix of count 3. We can see that as a result of the three pair of shift
operations, the data m has moved from PE 13 in the matrix of count 0, to PE 10 in the matrix of
count 1, to PE 7 in the matrix of count 2, and finally to PE 4 in the matrix of count 3. Similarly,
the diagonal (formed by virtue of a wrap-around operation) comprised of PEs 1, 14, 11, and 8
have all received the original data held by every other processing element in that diagonal.
Applicant has thus demonstrated that each element in a diagonal of length N receives the original
data held by every other element in that diagonal.

For purposes of completeness of the explanation, a fourth pair of shift operations has
been performed as shown in Appendix 1 to demonstrate that after the fourth pair of shift
operations the data returns to its original position; compare the matrix of count 0 to the matrix of
count 4. In reality, it is not necessary to perform the fourth pair of shift operations as each PE is
provided with sufficient memory so as to store its original data plus all the data that it has
received as a result of the three pair of shift operations. Appendix 1 thus demonstrates how each
diagonal of length N receives the original data held by every other element in that diagonal.

The examiner’s next concern is with the equations used to derive the counts. For
purposes of explanation, a matrix of counts has been prepared and appears in the upper left-hand
corner of Appendix 2. This count matrix has been prepared by comparing the data in FIG. 15A
with the data in FIG. 15B of the application. For example, PE 1 in FIG. 15A contains the data a.
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In FIG. 15B, PE 1 also contains the data a. The data a which PE 1 originally holds is the data to

be presented as the final output. Thus, the count for PE 1 is zero. For PE 2, the original data

held in FIG. 15A is b. However, the output data as seen in FIG. 15B is e. We can see from the

data matrix having count 1 in Appendix 1 that PE 2 has data e when the count is equal to 1 (i.e.,

after the first pair of shift operations). Thus, a 1 is placed in the count matrix appearing in the
-upper left-hand corner of FIG. 2 for PE 2.

Next, PE 3 originally holds data ¢ as shown in FIG. 15A. However, in FIG. 15B, the
output of PE 3 is to be the datai. We can see from Appendix 1 and the data matrix having a
count of 2, that PE 3 receives the data i when the count is 2. Thus, we put a count of 2 in the
count matrix appearing in the upper left-hand corner of Appendix 2.

Turning now to PE 4, we can see from FIG. 15A that the original data is d but FIG. 15B
indicates that the output data is to be m. We can see from the data matrix having a count of 3
that PE 4 has the data m when the count is 3. A count of 3 is placed in the count matrix.

Continuing now with the second row of the matrix of FIG. 15A, we see that the PE 5
originally holds data e, but according to FIG. 15B, must output data b. PE 5 receives data b
when the count is equal to 3. Thus, a 3 is put in the count matrix appearing in the upper left-
hand corner of FIG. 2. 4

The next processing element in the second row is PE 6. PE 6 originally holds the data f
and is to output the data f as its final output. Therefore, in the count matrix appearing in the
upper left-hand corner of Appendix 2, we place a 0 as the count value for PE 6.

For PE 7, that PE originally holds data g as shown in FIG. 15A but is to output the data j
as shown in FIG. 15B. We can see that PE 7 receives the data j when the count is equal to 1.
Therefore, a 1 is placed in the count matrix in the upper left-hand corner of Appendix 2 for PE 7.

We see from FIG. 15A that PE 8 originally holds the data h, but in FIG. 15B PE 8 is to
output the data n. We can see from the data matrix of count 2 that PE 8 receives the data n when
the count is 2. Therefore, we put a 2 in the count matrix appearing in the upper left-hand corner
of Appendix 2. The count matrix for the final two rows is prepared in a similar manner.

Turning now to the issue of the equation (See Appendix 2), the equation -

(X+Y+1)MOD(4) maybe used to calculate each of the count values. For example, for the first
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column, for the four PEs 1, 5, 9, and 13, the value for X is zero, the value for Y is 3,2, 1, 0,
respectively, so that the equation reduces to:

4 MOD(4)

3 MOD@)

2 MOD(®4)

1 MOD(4) for PEs 1, 5, 9, and 13, respectively.

For PE 1, 4 divided by 4 is 1 with a remainder of 0. For PE 5, 3 divided by 4 is 0 with a
remainder of 3. For PE 9, 2 divided by 4 is zero with a remainder of 2. And for PE 13, 1 divided
by 4 is zero with a remainder of 1. It is thus demonstrated that the equation (X+Y-+1)MOD(array
size) provides the counts four PEs 1, 5, 9, and 13, respectively. In a similar manner, Appendix 2
demonstrates that the counts for all of the PEs can be arrived at using the equation
(X+Y+1)MOD (array size).

It is respectfully submitted that the information provided in this amendment with respect
to FIG. 15A and FIG. 15B is duplicative of information appearing in the application as filed.

The information provided in this amendment has been provided at the request of the examiner to
provide a more simple example than the example presented in the application which is an 8 by 8
matrix. More particularly, if FIGs. 17A-H are compared to the original input data of FIG. 16A, it
is seen that the data is shifted along diagonals. For example, the original data of row 1 of FIG.
16A is presented in FIG. 17A. Thereafter, a first pair of shifts is performed which, in this
example, is an east shift and a north shift of all of the data in the array. Examining row 2 of FIG.
16A, and comparing that to FIG. 17B, it is seen that the first row of processing elements (FIG.
17B) now has data from the second row of processing elements (FIG. 16A) , but shifted to the
east by one processing element, and taking into account the wrap function. Thereafter, the
process is repeated , i.e., pairs of east and north shifts are performed.

Looking égain at FIGs. 17A-17H, and focusing on the eighth or last processing element
in the row, it is seen that that processing element originally contains hl, and then receives in
sequence g2, f3, e4, d5, ¢6, b7, and a8. Now, if one looks at the original input data, it is seen that
that data received by the last processing element of the first row as a result of seven pairs of
east/north shifts is all the data in the diagonal of which the last processing element is a part. The

same is true for every processing element in the array. Thus, it is respectfully submitted that
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FIG. 16A, viewed in combination with FIGs. 17A-17H, clearly demonstrates the feature of
shifting data along diagonals of the processing elements until each processing element in the
diagonal has received the data held by every other processing element in that diagonal.

The examiner’s attention is also directed to paragraph [0071] which discusses FIG. 16A
and 17A-17H, which is reproduced here for the examiner’s convenience.

[0071] Turning to FIGs. 16A and 16B, FIG. 16B represents one possible transpose
of the data of FIG. 16A. FIG. 17A illustrates the data appearing in the first row of
the matrix of FIG. 16A while FIGs. 17B through 17H illustrate the data as it
appears as a result of seven consecutive horizontal/vertical pairs of shifts, i.e.,
move data right (east) 1 PE, and move data up (north) one PE. In FIG. 17A, the
data “al” appearing in position one represents that data in the first row of the
transpose of FIG. 16B. So that data is selected as the final output. In FIG. 17B,
after the first pair of east/north shifts, the data “a2” appearing in position two
represents the data in the first row of the transpose of FIG. 16B. - Similarly, in
FIGs. 17C through 17H the data “a3” to “a8” appears in positions three through
eight, respectively. Using the expression (X+Y+1) MOD (8), the local counters in
each of the processing elements may be set to an initial count as illustrated in

FIG. 18.

It is readily apparent that if data is moved to the right one PE and up one PE; in a series
of consecutive horizontal/vertical pairs of shifts, that the data will be shifted along a diagonal.

) Furthermore, FIG. 18 illustrates the count in each of the processing elements which
enables that processing element to select, from amongst all of the data which it receives, the
appropriate data to output so as to affect a transpose of the data. Examining the top row in
FIG. 18, it is seen that the first processing element has a count of zero, corresponding to
FIG. 17A, which indicates that the original data in that processing element is the data which that
processing element should output to effect a transpose of the data in the array. That count is
arrived at using the equation (X+Y+1)Mod(8) which is equal to (0+7+1)Mod(8)= 0. Similarly,
the eighth processing element in the first row has a count of seven, indicating that that processing
element must wait for seven shifts, see FIG. 17B-17H, until it receives the data a8. The count of
seven thus enables the eighth processing element in the first row to select as its output the data it
receives after the seven pairs of shifts. The count is arrived at using the equation
(7+7+1)Mod(8). 15 divided by 8 is equal to 1 with a remainder of 7. It is respectfully submitted
that paragraph [0071], FIG. 16A and FIGs. 17A-17H demonstrate how every element in a given

Pl-1183175v] -6-



Appl. No. 10/689,257
Amdt. dated 8 September 2008
Reply to Office Action of 9 June 2008

diagonal can receive data held by every other element in that diagonal. FIG. 18 clearly illustrates
how each of the processing elements selects from amongst all of the data which it has received,
that data which is to be output to effect a transpose of the input data. Finally, FIGs. 19A-19L
reiterate the foregoing by illustrating input data, output data, and counter values through the
process of shifting data. See paragraphs [0072] — [0075].

Applicant has made a bona fide effort to address the examiner’s concern and to provide
the detail example requested by the examiner. Should the examiner have any remaining
questions, the examiner is invited to contact the undersigned to address any remaining concerns.

A Notice of Allowance for pending claims 1-20 and 26 is respectfully requested.

Respectfully submitted,

O I Reen it

Edward L. Pencoske

Reg. No. 29,688

JONES DAY

One Mellon Center

500 Grant Street, Suite 3100
Pittsburgh, PA, USA, 15219
(412) 394-9531

(412) 394-7959 (Fax)
Attorneys for Applicant

PII-1183175v] -7-



Q sH|@Y

Y |9 =

- s e =

e ]

rmat

Q @ -19C
< ¥— Qo>
Lo

» = 9
SE S
R s
NeEQ &

.:..:n.#\lle - - A.;\..\I U e e
Q O ® 19~ (o
&) (-

C éuA(;O

=

-~

Coont

=2

COdw‘(’

@m 9 Mo @[
Q@
SR SR I S
R R
@< |9 _p O QD
N )z
,Tm MOO @ mnu
SR AV
-y
9.5 @< @!b@p_‘
:al@m @Q IKY
9 — |9 o yd 19-<C
Rl it il 20

;o

| 9 -(\U\JFHI\ /Da(’/’i g

‘1Lu/ nJ
3 —ff

er o//?;/\/; $
dcte

C)\(‘C&lna,ﬂ 7306577‘”0\/)

Q.

Q .

5

<

35
oY |e@USeY g
e 9 Yo 9. @m

= 4

4 Ouv\'f’

A,openc) 4



o @ @ J
! ‘ ,_ : L
O | A 3 ('o?fﬁsu&)
O e (@, | by P& T
310 i
L | ; _ Seleet”
§@’@ & }@ ‘
Usceua’ﬁ'w‘ - —
¢ nuvwb‘fj Celeutote local PE coen™
| @ 3 +37d 7 med (4) = 3
o 3 2+ € ved (1) = 2
/@3+)+;: S’I/V]od[l»D:I
@ N+ O ti - H W\U‘Q)(L{) = (0
@ 2 +3 <0 =€ o (=)= 2
Cj) 2+ 4 ( - S '/)"UC)[L’\)—’[
.____3@2_(.(-(.1 = 4 \/Vlcd[Lf)‘:’-O
'S l-«—o-&l = 3 VW’JU[‘ =3
G a3t S Med (W) T
L>@ (2«1t =4 ﬂ\u;)(‘-f)—: G
@ La e =3 ed(u)= 3
(y 1+G6+1 =2 Mo (n) = 2
O G2« =2 dmow ()< O
’>@- ¢ « Qe =3 “Mod (1) = 3
O C+ i =2 mw(a)= 2
@ G 0+ = | Mdd (v) = |

Appcn«) VA,



e e g
Nt i
e E |
& @ @ o, !

OY « r\cj

date N’\o‘fTN G{

. ) | B .

Cost shabt count =)

O otfe, ot shift
omc) .fx()iCCﬂL‘VZ} CIn UFCU-/\/».;(
N otk gk{’f/

ute oo noth (5m9)
Shed+

(Covnt = |

Y

A’r?pc/.c} YA



	2008-09-10 Applicant Arguments/Remarks Made in an Amendment

